
T ∞

mÈC=C
1

−m
ÈT

� //

��

Z
1

−m
ÈC=C

∞
È

Z

��
∞�|

T 2

mÈC
� // ∞�|Z

2

ÈC

T
0
ÈC=C

1

mÈT
� //

��

Z
1

mÈC=C
ω

È
Z

��
ω�|

T 2

mÈC
� // ω�|Z

2

ÈC

T
0
ÈC

�

��

p
// T ∞

mÈC

�

��

M
multiplier

// �|
T 2

mÈC

�

��

C
1

−m
ÈT

�

��

convolutor
Coo C

1

mÈT

�

��

p
oo

Z
1

mÈC
p // Z

1

−m
ÈC co-convolutor

∧
M

// �|Z
2

ÈC C
∞
È

Z∧
C

co-multiplieroo C
ω

È
Z

poo

T 2

mÈC

�

��

T 2

mÈC

�

��

f
∞
:�

]
ϕ
∞
:

`uoo

Z
2

ÈC Z
2

ÈC
ϕ

1
:

u]
oo



ϕ
1
:ξ

Y [α
=

∑
β � Z

ϕ
α− β

ξ
β


